Or
Ritu can row down stream 20km in 2hr, and uppstream
41cm in 2hr. Find her speed of rowing in still water
and the speed of the current.
g o0 % 3% 2 ¥ § 20km W Thdl ¥ SR U7 F
Jidha 2 T H 41km T Fehdl & 3HH! R 5 § O
=T Al SR i =Tel [T e |

MODEL TEST PAPER (TERM - 1I)
CLASS - X
MATHEMATICS

Time : 3 hrs

M.M. :50

e

U9 93 1 5 @UEl | fauifsd feren T € @1, 9, 9, T, 3 | @ue-
31 H 12 Igfoehedid U9 § T Uieh 1 37 &l ¢ | @ve-9 H 8
Sgfashedia U9 € S S Hg-AIT R AR € qe1 YA
1 37k 1 € | @US-W H IR YA & T Y4 2 37 I ¥ | 38
T HEA 21 § 24 T § A1 TR 23 3R 24 H F=RE e &
TE ¥ 1 @US-3 § U9 TAT 25 9 28 Tk 4 U ¥ oI U 3
3ieh 1 § T9A U@ 27, 28 W o7k g2 & R T 1 @ve-T |
TR HE@A 29, 30 & Y © A1 H TNH P & TE § qAql
YAF 5 37k H T

Note :

Question apper is divided in 5 Sections A, B, C, D, E.
Sections A consists of 12 multiple choice question and
each carries 1 mark each. Sections B consists of 8
multiple choice questions based on two case studies
and each carry 1 mark each. Sections C consists of 4
questions and each carries two marks. It has Questions
from 21 to 24. Question No. 23 and 24 have been
provided with internal choice. Sections D consists of
4 questions from Q. No. 25 to 26. Question No. 27 and
28 have been provided with internal can and carries
3 marks each. Sections E consists of two question Q.
No. 29 and 30. Both have been provided with internal
choice. Each question carries 5 marks.



MODEL TEST PAPER (TERM - 1I)

CLASS - X
MATHEMATICS
Time : 3 hrs M.M. :50
Section-A (@ug - A)
All questions carry one mark each. 1x12=12
Teh 3 At U9
IftanA =cotBthen A+B=............
(@) 180° (b) 45°
(c) 9o0°
I tanA = cotBTA+B = ............
(@) 180° (b) 45°
(c) 90°
How many tangents can a circle have?
(@ O (b) infinite
(c) 4
Teh I ! T TI91 T@d &1 Tehel! T |
(@ o (b) infinite
(c) 4
The volume of a cube having side lis .............
(a) 2 b) 1P
c) 6°
ST | ATl = 1 ST ... BT |
(@) 2P o) I°

Sin (90-0)=........

(@) cot6 (b) cos6

(c) cosecH

Sin (90 —0)=........

(a) cot6 (b) cos®6

(c) cosecH

The tangent at a point of a circle is .............. to the
radius through the point of contact.

(@) parallel (b) prependicular

(c) anti parallel
g & fordlt forg T vt T, Tet fag & < areft e e e

Slant height | =
(@ h

) h*
s S | =

(a) cot’ 0 (b) tan’ @

(a) cot @ (b) tan®0



10.

(€ cos’ 0

The common point of the tangent and the circle is

called.............

(a) secant

(c) prependicular

Tt Y@ iR ga % 3yt fag &

(a) ®H fog

(c) <

Volume of a cylinder

(@ 7zr*nh

1—tan?45°

1+ tan?45°

(@) tan90°
(c) 1

1—tan? 45°

1+ tan?45°

(a) tan90°

(b)

(b)

point of contact

11.

12.

(c) 1
The volume of hemisphere of radius 3cm is.

198 792 4
—Cm ——Cm
@ - 0

396 5
——Ccm
© =

3 9. et STl hT STRIaE BT

@ 2o’ 6 Eom’

@on
© -

sin18°
sin72°
(@ 1 (b) 4
(c) sin54°

sin72°
(@ 1 (b) 4
(c) sin54°

Section- B (@us - B)

Section-B consists of 8 questions based on two
case study each question carry one mark.

TUE- H 8 YYH ¥ T 2 HiT T W E Yk U9 T Ueh
3h T



13.

14.

15.

16.

Case Study-1
Tihersd Tafd & IRE &N 9gd 0F, TH 9 AR 3=
TS WA, G H Hael fF 1 gad vge 3= 17 T fag
IR IA W 1 W 17 I foran iR 39 7= & T 94 | = fean
AN Tk G Wiw (TR fehrem) &t geae & foe od
TG § b o W He o favn He i St HWeA B
SHh! o WiFekl B fom femtet T yan ue fawq w@en 2

9 7

@ 37 b) 77
8

© 37

THRT 1 WTEaT B foh TehTett T It ek 31979 T © |
9 7

@ 77 b) 17
8

© 37

THRT 1 YTIKT B o fehrell T ot 2 3R 3 Y qm gl §
3 4

@ 77 b 17
P

© 37

TSI I T BT foh FehTen a1 At 3 37 5 o ok ® |
9 7

@ 37 b) 77
8

© 37

13.

14.

15.

16.

During lock down period, people were very puzzled
and they decided to play some game. Firstly they
collect the 17 cards and write the numbers 1 to 17
and put them in a box. People make a bet for the
chance of drawing the number either the prime, odd
or even numebr etc.

Find the probability that the number on card is an odd
number.

9 7
(@ 17

8
© 37

Find the probability that the number on card is a prime
number.

9 7
(a) 17

8
© 37

Find the probability that the number on the card is
divided by 2 or 3 both.

3 4
@ 37

2
© 17

Find the probability that the number on card is multiple
by 3 and 5.



9 v A horse is tied to a peg at one corner of a square

(@) 17 (b) 17 shaped grass field of side 15m by mean of a 5m long
rope.
8 Due to this a horse can eat the grass only one
© 37 particular corner of the field.
Case Study-2 17. Nwa MMM Mmmm of the field. — .
m
15 TY. 9SSt Teh SR =T o M o Teh A o @1 G (©) 227m’
Y T Sk 5 Hl. Al Wl § S I w0 ¥ ) ase ¥ 18. Choose the correct formula ofr determing the area of
HIST hael Ueh fo¥Iy A 1 =19 & @1 Tehel € | sector of circle.
STFHA ?
17. HM %Iu—lo_ﬂ m_M_._W Am.v hﬁﬂm AUV bﬁ._‘m
(@) 220m? (b) 225m? 360 180
2
0
() 227m © ot
18. od o f3a1 WUe &I &F%c] J1A FH & [T &l G 1 = .
- 19. Find the area of the part of the field in which horse
can graze.
0 0 ., (@) 19.80m’ (b) 19.625m°
- _\ -
20. Find the increase in the grazing area if the rope were
© 0 10m long instead of 5m.
360 (@) 58m° (b) 58.875m°
19. TTM % 3 AN & &IFA Sl =Sl =) Hehell ¢ | (c) 58.7m
(@) 19.80m° (b) 19.625m° Section- C (Tvs - C)
(©) 19.30m? All questions carry 2 marks.
: 3
20. =R Heh ol &l | i, A =g i 5 . oSl WEH <k 21. If sinA=7 then find cosA & tanA.
T W 10 H. sl T | 9y o S
2 2 3
(@) 58m (b) 58.875m oz sinA=, T cosA S tanA 1 T I T |

() 58.7m"



22.

23.

24.

25.

A bag contains 3 red and 5 black balls. A ball its drawn
at random from the bag. What is the probability that
the ball drawn is red.

T Ol § 3 A 9 5 el s 7 139 O § H TH A% Agesd
fTeRTell ST © S8Rt WieT 0 © T ferelt € 7 et 1

If tangents PA and PB from point P to a circle with
centre O are inclined to each other at an angle of 80°
then find the value of ZPOA.

I fag P & O %= el fonddt 3 W PA ¥791 ¥@md TR 80°
% I W T &1 df LPOA F1d ShifSg |
Or

Find the area of a sector of a circle with radius 6¢cm if
angle of sector is 60°.

6 . 553 arel 9a & U FEEve #1 SFhe 19 Hifag
g 60° 1 € |
One card is drawn from a well shuffled deck of 52 cards.
Find the probability to get a kind of red color.
52 U I 3753 YRR Thel T8 Uk gl H § Teh qa FeRrer S
¥ | et T T SIME TS i <kl Wl T ShifeT |

Or

A cone of height 24cm and radius 6¢cm is made up of
modelling day. Find its volume.

Tied S aTelt faedt & S 24 1. 31K uR 6 T, oo

AT Yok S T © 36 Yk I ST 1 i |
Section- D (@us - D)

All questions carry 3 marks each.

3 3k a1t UgA

Draw a circle of radius 6cm. From a point 10cm away

from its centre. Construct the pair of tangents to the
circle and measure their length.

26.

27.

6 Tt oo 1 U 9a i | e | 10 H g feord v forg.
Y g0 R WY @ JH I AT HITT AR ST eTgar
9=y |

If sin(A-B) = W.ooi\TwT W“om>+mm@o.>vw
has A & B.

. 1 1
Ifg sin(A-B) = m,oom%,l_wvu —,0<A+B<90, A

2
> B 1 A 3R B J1d ifsq |
Or

1+secA _ sin? A
secA 1-cosA

Prove that

1+secA _ sin? A
secA 1-cosA

fag =ifsm

Find the area of a shaded region where ABCD is a
square of side 14cm.

BRAfhd TN I &% 1 hitg 56l ABCD =T 14 T,
HTH T T




28.

29.

The slant height of a frustrum of a cone is 4cm and
perimeter of its circular ends are 18cm and 6cm. Find
the curved surface area of frustrum.

T Y & foe ot Fder o 4 Sft. € aen sue gt fad
1 AT 18 T, 7R 6 Tt T 30 foviah 1 Ak TS ke
F1d i |

Or
Teh o= o 9T UE1 91§ Torees Teten! o) e 31am sifed ®)

[A] [8] [c] [D] [E] [A]
(@ A b) D

A child has a dice whose six faces show the letters as
given below.

[A] [B] [c] [o] [E] [A]

(@ A (b)y D
Section-E

All questions carry 5 marks each.

5 3Rl Tt U9

A tower stands vertically on the grained from the point
on the ground which is 15m away from the foot of the
tower, the angle of elevation of the top of the tower is
60°. Find height of the tower.

AT TR Weh HIMR UM’ @l § | 9% & T g 9, S /AR
% U1 forg § 15 1. T, HIMR 1 a1 3= 01 60°
¥ THR T 39 F1 Shiferg |

Or

30.

How many silver coins 1.75m in diameter and of
thickness 2mm must be melted to from a cuboid of
dimensions 55cmx10cmx3.5¢cm.

fomrsti 55cmx10cmx3.5cm Al T 16 a9 o T
1.75m =& 3R 2mm Hier ot e =idt & foeehi &
T T |

A survey conducted on 20 household in a locality by

a group of students resulted the following frequency
table for number of family members in a household.

Family size 1-3 3-5| 57 7-9 | 9-11

No. of families 7 8 2 2 1

Find the mode of this data.

fornfefail o T W g Tk Higdl o 20 GRARI WX fohe T
AU o RO ey fafy= IRER] & 95l & 9@ |
Hrf-ya 9 3Tidhs I U

&R |19 1-3 3-5 | 57 7-9 | 9-11

TREmT st T 7 8 2 2 1

T TSl T TgeIh 1A hiToId |
Or

Mathelic spheres of radii 6cm, 8cm and 10cm are
melted to form a single solid sphere. Find the radius
of resulting sphere.

FUY : 6 i, 8 Tt 10 I, Frensti At eng % i 3
el & TIeIeTeRt ek 319 Tl SR ST © | 39 el &1 B
Jd ShifT |



